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WRITTEN IN LEGIBLE HANDWRITING IN BLACK INK.
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so as to avoid mistakes in the printed question papers.

Duration 3 Hours. Total Marks assigned to the paper ...7.~..

Q. No. SelutH'on. Marks
N.B.:

Ql. (}:[ "?"\N‘ Pe}nbs Q-t onF*#CM*“'\af}f\On (J,] mafk Carh

E‘ @fn‘vod-im[Ej

(ﬂ Deanabon (] OUG—OTam (=]
J '@\vc Jactore Jor setecHon of ~olttmeter ) mark
tor cash fader

('~

st |2 - o dco)= Q&Lfﬂa.ez—rleso
<> d8) O(D*LO , N -
SD— c le o _'_ﬁz\/-rnﬁ'f-’{—o
S\ 0.¢6 o &: -0.& T 2?#‘8;

© ‘6 ) \ 0

S i F’la.rd-tnwu(] gtablc

gt o 2

<t |4 te 2%
33 2.5 -2 O
S le 24 © 2sign chang es.= 2 roots +o
| — ’ b
< 28 O RHS Q-P- < fyOJS( v
60




Q4

Page No......—.....

1
!aj tunchion of deay line (]
} Tre base E\D’J ﬁacr Uru,U““ CBJ
E} /63
I’QCS) ___-l GaGa e u
Gl K(*Gg_@a,'*l] ) / Cee

;ch) 8y — l\__cﬂe;sa . Gabetls ) ~d
| /[ l4-Cg GaH | T G2 J e)

Qes) — GiGaf Ge,(a-q—f-(ﬂ;D
o GaM ! 5 coe)
H— (‘Y‘é_;_((:-g(rw-rﬁs)""i\
| +&5- G 2H)

cesd = 62 (GaGy t6s)

e 60 GaH) G 62 (6364 s ) Ho

. [c‘_ncz:"T\of) C:f‘:]

a:( 'bma,rm fij Fﬁf

Marks



Q. No.

o

0\90’-"— W n '\/,—-esﬁ- - 2 r/s ec

I & ’Zﬁ = 055 35 Se

7"5: —)%9? = @'-7—-35_86c

imp = erx%/@ oo = T3,
s - = (38 3lec

' 5_1] Us_saum,s /Derm [57) Wtd’ an<d Pb

.ﬂ P=o A= —4:MU'

O = Ga"’/ 9;':-/30”/ Qs = 3o p g=—-26€6 4+

©

Mo break aw /349"/7‘!—

D= 45 ol —4-*4(\/
o v

CM = 45 al ~—-4; ,_4(\/

O Lk <ARSEE
ErHee root locue d.)ﬁmm rffj

3¢
oce)= 1S 62€ € sinf4t 0 ‘?272>

/30"')!* o} rnterceckton ! 8:_—_}#\]5—9_\/

ase mpeaguremen |

r5]




Q€ o] Calewtabion [8] — Bode plot ouV (3] | detasis [ 1]

o]

chg 4y fQe e,

wﬁc =4 7 rlsec

P =47
[3]
GM= 1548

T = CGoaba L= -Hal
To = G G2 Gy Lo= —Gi6-aHo
T8= Gy 6als L=~ Galah,
L[(E: -G[ G-D_C"QH[
ls = “G—,G_Q_G—E;H
Al‘—f/ AQ:'/ AB_:'
Asi—[U+tattatiy tes ]

T F. (3]

L7

Page No’?

Marks




